1 вариант
1. НОД (4,12)=                              Ответ:

2. НОД (16,24)=                            Ответ:

3. НОД (30,120)=                          Ответ:

4. НОК (4,12)=                              Ответ:

5. НОК (15,4)=                              Ответ:

6. НОК (22,33)=                            Ответ:

7. НОД (4,16,12)=                        Ответ:
Выберите правильный ответ:

	№ 1.
	2 - М
	4 - Н
	12 - К 
	16 - С

	№ 2.
	12 - Т
	16 - В
	8 - О
	4 - И

	№ 3.
	30 - Д
	6 - Л
	90 - Е
	24 - А

	№ 4.
	48 - П
	32 - Д
	12 - И
	36 - Л

	№ 5.
	60 - Н
	50 - Е
	30 - Р
	45 - И

	№ 6.
	22 - В
	132-А
	33 - Н
	66 - О

	№ 7.
	10 - Т
	4 - К
	15 - Ь
	40 -Н


2 вариант
1. НОД (16,4)=                         Ответ:

2. НОД (24,32)=                       Ответ:

3. НОД (60,90)=                       Ответ:

4. НОК (12,3)=                         Ответ:

5. НОК (5,12)=                         Ответ:

6. НОК (6,22)=                        Ответ: 

7. НОД (16,4,.24)=                  Ответ:
Выберите правильный ответ:
	№ 1.
	2 - М
	4 - Н
	12 - К 
	16 - С

	№ 2.
	12 - Т
	16 - В
	8 - О
	4 - И

	№ 3.
	30 - Д
	6 - Л
	90 - Е
	24 - А

	№ 4.
	48 - П
	32 - Д
	12 - И
	36 - Л

	№ 5.
	60 - Н
	50 - Е
	30 - Р
	45 - И

	№ 6.
	22 - В
	132-А
	33 - Н
	66 - О

	№ 7.
	10 - Т
	4 - К
	15 - Ь
	40 -Н


